Opérations avec deux fractions mixtes (B)

Nom: Date: Note:

Calculez chaque résultat.

1 Sg+2— =
2 5%+11—21 =
3 51+5— =
5
4 5%+1% =
5. 5= —4- =
6. 5=—4- =
7 5%+1% =
8 S%XI% =
9. 5%)(1% =
10. 5%+3; =
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Opérations avec deux fractions mixtes (B) Réponses

Nom: Date: Note:

Calculez chaque résultat.

, 41 11 41 4 164 10
7" 74 7 4 7 11 77 77

,oslo 2 _ .13 _ 1 11 121 17
27711 2 11 2 713 0 26 26
, sl.s8 _26.53 26 9 234
5° 5 79 5753 265
1 3 11 7 29
4 5§+IZ = 7+Z = I = 7=
11 35 9
—_—f- = — — — = - = 1-
509 > T8 3
1 11 17 5
o ST T T 1 Tl
1 1 16 3 41
7 5§+1§ = ?‘Fz — F = 6-
1 1 46 8 368 53
55Xy = gX5 T & T 6
1 5 11 23 253 1
X =T TXw T 3 T 36
4 37 25 62 6
10 5§+3§ 7+7— 7 = 8=
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